Fawulty of Arts amd Selemess
inthematics Depardment

MATH 211
QUIZ 1
Sprimg HHG-2MT
blomdagy Bdarch 26, 12 00 pm
Chosedd Book, 1HISMIN

E}Q&Hﬂh

WERITE YOUR ANSWERS ON THE QUESTION SHEET

[ATUDENT MAME

| 1D NUMBER

Prabdom | Out of | Grade

2 1
i 15
4 in
o mn

TOTAL 1]




L {15 points]
{a] {5 points] Prove nsing trath tabile theat

(p=ght(p=rj=(p—=(gar]).
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{b) {4 points) Prove without using truth tables that .

{=p — [p— ql} is & Tautology.
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(e (6 pence) Prose withoot using truth tabdes that, given a fioed propesition ¢,
anel & predicate Plz) on s aniverss of discourse U thot conssts of a fimite amber
af elemenis [ = {:r-._., 2510 .'.'ll.-.},, that :
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2 (10 poinds] Lt Cfx_ o) b the atabement *2 anl y have dhatted over the [nbernet’,
where the domain for the wmrinbles z and goonssbs of sl gticdents i yoir dase.

{a) (5 poims) Use guustiferns o express the following statement.
“Tlezre are ot least Ewo stodents in your class who beve not diatted with the
ERENE Eersan in yiar olass "

F=dy [+gn Y3 {cey) e |

(b} (5 paointa] Write che folbowing in English
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3, 015 points) Coesider the fecdaon fir] = fon(z) fom (—7 L7802 to B oaned
glx) = axple) o B to By = (0, 0o0).
(a) [3 peints) Stady the funciion b 2= go f. 1 properly defimed, God the doinain, the
cvrdlimmaln anel the expression of &
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[} (5 poimis) Figd the inverse image set h~ (5] where 5 0= |1, €], with e = exp[1].
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(e} (4 podnte) Ta K iweertilde T 17 yee, sy why aned find the expresaon of the imerse
Fusciion &',
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4. (10 points) Solve the following :
[a) {4 points] Civen two sets A, 3, subsets of » univerasl sot I

Xa-a= x4l = xmh.
W & (A-8) |, (xeh)n (x4B)
sar [o=t]n & TSEN
jﬁt’:-fl I‘Lﬂt-”’f-ubf%‘- 4.[1-08) =1
Hor . o E(h-By ﬁﬁ_ﬁfr\: i
g:;r A ¥ I'.'?'l-ﬂ_l :&_J'ﬂ = ip.{-":"' E-i - '$.!i1r.q}
ot ie: [(Fuo= Hea-$0 |

A
C.'L!‘rl N '{ P T bl PR T _quu'_['\‘n-u....)

ha e CLEKI S L any

(b (6 poinds) Let € &, Consider thee sets {Ag o= [m,00)ln € E}. For g € (0,3,
graph the functiom :
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G, [0 psoimta] Consider the relatiom 8 O A » A, where A :=-[I.,3,3.l]-,'#hﬂe
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(=] (4 poiniz] Find the elememis of £ and, as well, its ioble representataon.
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